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The Ali Baba Co. is the only supplier of a particular type of Oriental carpet.  The
estimated demand for their carpets is

Q=112-.5P+5M
where Q = number of carpets (1, 000), P = price of carpets (dollars per unit), and M =
consumers’ income per capita ($1,000).
The estimated average variable cost function for Ali Baba’s carpets is
AVC=200-12Q +2Q?
Consumers’ income per capita is expected to be $20,000 and total fixed cost is $100,000.
2. How many carpets should the firm produce in order to maximize profit ?
b. What is the profit- -maximizing price of carpets ?
¢. What is the maximum amount of profit that the firm can earn selling carpets ?

d. Answer parts a through ¢ if consumers’ income per capita is expected to be $30,000
instead.

Caytei Products manufactures two models of a particular product — the “good” model G)
and the “best” model (B). The two modcls are substitutes in production, and must share

Caytal’s production facilities. Caytel has determined that the production functions for
the two models are:

Good Model: Qg = 4.0H,

Best Model: Q, = 4.0H,
where Hgand Hy measure the number of hours per month Caytel’s plant spends
producing the good and best models, respectively. The demand functions for the two
models are forecasted to be:

Qg = 4,000 - 256P,
and Qg =600 - 4P,
The marginal cost of using Caytel’s plant is estimated to be:
MC = 5.0 + 0.05H, where H=Hg + Hy
a. In order to maximize profit, how many hours per month should caytel’s plant
operate ?

b. How many units of the good model should be produced to maximize Caytel’s
profit ?

¢. How many units of the best model should be produced to maximize Caytel’s profit ?
d. What prices should Caytel charge for the two models ?
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1.The unemployment rate is calculated as
a.[(the labor force)/(population)] X 100.
b.[(unemployment)/(population)] X 100.
¢.[(unemployment)/(labor force)] X 100.
d.[(labor force)/(unemployment)] X 100.
2.Frictional unemployment is due to
a.technology change or foreign competition.
b.normal labor market tumover,
¢.a slowdown in the pace of economic expansion.
d.irresponsible or poor work habits of workers.
3.If the rate of inflation is higher than anticipated
a.lenders will gain at the expense of borrowers and workers
will gain at the expense of employers.
b.borrowers will gain at the expense of lenders and workers
will gain at the expense of employers.
c.lenders will gain at the expense of borrowers and employers
will gain at the expense of workers.
d.borrowers will gain at the expense of lenders and employers
will gain at the expense of workers.
4.A decrease in oil prices will cause
a.long-run aggregate supply to decrease.
b.long-run aggregate supply to increase.
c.short-run aggregate supply to increase.
d.short-run aggregate supply to decrease.
5.Which of the following will cause the aggregate demand curve
to shift to the left?
a.an increase in interest rates (at a given price level).
b.an increase in expected inflation.
c.an increase in taxes.
d.a decrease in the price level.
6.According to the paradox of thrift, and increase in savings will
result in
a.an increase in investment and income.
b.an increase in income and consumption.
¢.a decrease in income and savings.

d.a decrease in the multiplier and investment.
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7.Which of the following is an example of an automatic stabilizer?
As real GDP increase,
a.consumption expenditure increases.
b.income taxes increase.
c.spending on imports increases.
d.investment spending is unaffected.
8.The quantity theory of money is the proposition that an increase
in the money supply
a.will decrease the price level by an offsetting amount,
rendering monetary policy useless.
b.by n percent will lead to an increase in the price level by n+1
percent.
c.will lead to an equal percentage increase in real GDP.
d.will lead to an equal percentage increase in the price level.
9.By increasing the required reserve ratio, the Central bank can
a.reduce interest rates.
b.increase bank lending to the general public.
c.reduce the money supply.
d.create an excess of reserves in the bankng system.
10.Which of the following will cause an increase in interest rates?
a.a decrease in the demand for money.
b.an increase in bond prices
c.an increase in the money supply
d.a decrease in bond prices.
11.Stagflation means the real GDP stops growing or even declines
and '
a.the rate of inflation declines.
b.the rate of inflation increases.
c.the rate of inflation remains stable.
d.the economy experiences deflation.
12.Cost-push inflation occurs when the aggregate
a.demand curve shifts to the left.
b.demand curve shifts to the right.
c.supply curve shifts to the left.
d.supply curve shifts to the right.
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13.Comparative advantage means that one country can produce
a.more of a good than another country can.
b.a good at lower marginal cost than another country can,
c.a good at lower long-run average total cost than another
country can.
d.a good at a lower opportunity cost than any other country can.
14.The impact of a change in the money supply on aggregate
demand is greater,
a.the flatter the demand curve for real money and the
investment demand curve.
b.the steeper the demand curve for real money and the
investment demand curve.
c.the flatter the demand curve for real money and the steeper
the investment demand curve,
d.the steeper the demand curve for real money and the flatter
the investment demand curve,
15.According to Keynesians, monetary policy is ineffective because
the demand curve for real money
a.and the investment demand curve are flat.
b.is steep and the investment demand curve is flat.
c.is flat and the investment demand curve is steep.
d.and the investment demand curve are steep.
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1. You are given the following information about a hypothetical
economy: The autonomous part of consumption is $100 billion. The
marginal propensity to consume out of disposable income is 0.8.
Investment is $460 billion; government purchases of goods and
services are $400 billion; taxes are a constant $400 billion and do
not vary as income varies.

a.Calculate the equilibrium levels of GNP and consumption,

b.If government expenditure is cut to $300 billion, what is the
change in GNP and the change in consumption?

¢.What is the size of the multiplier?
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2. Use the following information about an economy to answer the problems.
The economy*s shortrun production function is -

Labor hours Real GNP
1 20
2 38
3 54
4 68
5 80
é 90
7 98
8 104
its demand and supply schedules for labor are
Real wage Labor hours
rate Demanded Supplied
6 8 2
8 7 3
10 6 4
12 5 5
14 4 6
16 3 7
18 2 8
20 ' 1 9

a.If real wages are flexible, how much labor is employed and what is the
real wage rate?
b.If the GNP deflator is 120, what is the monegy wage rate?
¢.If real wages are flexible, what is the aggregate supply curve in this
economy?
d.If money wages are sticky and if the GNP deflator is expected to be 100,
what is the money wage rate in this economy?




